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Subject : Elements of Science and
Mathematics for Agriculture
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. Note : Attempt all questions.

(if) mmsﬂnm%mfiaﬁmﬁﬁmﬂqh

Internal options are given in Question Nos. 8 to 17.

fder : () WA FHHF 1 IS I ¢ dF s e (A) °
Tgfawed ¥, @ve (F) ¥ R wrEl /) i 9@ 5
@z (W) § e 7 T 7 ) TAE g 6 5 v
A9 TAF Y W 1 3 AEfea €

Instruction : (A) Question No. 1 is an objective type question. It has three
| Sections. In Section (A) Multiple- choice questions, in
Section (B) Fill in the blanks and in Section (C) Match the

following are given. Each section has 5 questions. Each
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question carrics | mark.

SM-47+ P.T.0.



WOod AUI[UOPIROGSI Mmmm//:dny

-1

2]
(Orox-3 ) ) e g finftay [1x5=5]

i

{(Sectton-A) Choose and write the correct aption :

(1) ez A W ) sl uen A R 8
(n co,
(%) 80,
(3) C,il,
(D s

Maximum quantity found in gobar gas is :

(@) CO, g
(b) SO, z
(©) G, 2
(d) H,$ ué_
(i) S & s ¥ 5
(37) arEA () % %
(#) Wogw () =iz 5
Father of heredity is : (g
(@) Watson () Croock
(¢) Mendel (d) Darwin
(iii) % W W vomefiw fFmd it s e da g, €
A3 =% (7) 3=
(9) & (3) <=

The substance which gives information of completion of
chemical reaction, is :
(a) indicator (b) acid

(c¢) Dbase (d) salt
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(v) ST EEREREAL .
(3) w3 (%) 7=
JEs i (Z) BYA

Unsaturated hyvdrocarben is ¢

(a) ethans {b) propane’
(c) ethylene (dy methare

(v) TRIFEEANF L

(37) &5 F1 o

(7) =3 3 = o=

(%) w5 =1 307 9 fam = s
(7 svirm i

Aim of re-establishment of plant is -

(@) security of crops

(b) development of new plants

(c) study of origin and dispersion of crogps
(d) All of the zhove

T91-1 (ave-7) fm == =1 i Fifam - (1 -S=$]
(Section-B) Fill in the blanks - -
() WO F OEET RvEFE R Fzad
The beneficial expression of hiybridization fs called
(i) SEwEFTEmeTia i
Visible characters of living beings are called .
(i) TR F|M@mam T
Full name of ATP.is ___.
(iv) T3 SF TEm-aET Mgt
The maximum quantity of photosynthesis cecurs iz eolour.
(v) vofmfozd .  w=radat)
% ofalcohol is found in absolute alcohol.
SM-47+ PT.0.
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W1 (WUE-W) ¥ 9 Ty [1x5=5]
(%) (@)
() = (30 frza
(i) TEhferm FHem () fivd
(iii) W) Fe (%) HF;
(iv) W IeH (2) ugw
(v) fefem mo (3) Hiwew
(Section-C) Match the following :
(A) (B)
() Marsh gas (a) grasshopper
(i) Rhizobium culture (b) lady’s finger
(iif) Malvaceae family (¢) fertilizer
(iv) Silk cultivation (d) methane
(v) Orthoptera order (e) secriculture
Frdor : (F) T HHF 2 | 7 % IRAgEEdd I T T TE W

2 3% rEfed § ) (IW = fuaran w=-dm 30 v 2)

Instruction : (B) Question Nos. 2 to 7 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

wya-2  Hiftgs & QI fafan) [1+1=2]
Write two characters of median. '

WeA-3 o 12 & 9 anfde wew 9 d9fe o fafag) [141=2]
Write two economic importances and zoological name of lac insect.

UT-4  TIEH & Q) 39d 3R dfed fafan) [1+1=2]

Write two uses of enzymes with example.

Luoo'eu!mopﬁoqﬂommmy:dnq
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Instruction : (C)

Rt g0 T e

[5]
A gier ¥ arg Roil & s fefn g (VoHVat Ve Vi=2]
Write names of four plants of Solanaceace family.

Write two propertics ol aliphatic compounds.

ag a7 12]

What is selection ?

: (W) 9 wHiE 8 A 12 9% AfaEqEaig u ¥ ) ydw W W
4 % dfea §1 (3T F) sfvman w=-dm 75 = R)

Question Nos. 8 to 12 are very short answer type questions.
IZach question carries 4 marks. (Maximum word limit of
answer is 75 words)

Fo 96 & AR 1 fafau [1x4=4]

Write four characteristics of heat engine,
erar
OR
A T8 §51 7 @l e 9§ ofm fefae (2 T ) [1+141+1=4]

Write differences between Internal Combustion Engine and External
Combustion Engine (any four).

T R #H $) foroan 28 et # | v faard 9) = w99 o &
[4]

The radius of a circular ground is 28 meters. How much distance a
player will cover to make ten rounds of the ground?

3rerEar
. OR

mﬁﬁf#mﬁﬁwuﬁtﬂ %Iaﬁmowmﬁﬁﬁwﬁ{ﬂ
T H9 ?

The radius of cycle wheel is 42 cm. In making 400 rounds how much

distance it will cover?
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W10 fruffan sitey = fag Y g waRia SR :

' -1

q¥-12

T (fem )| q0 | 41 | 42 | 43 | s | 45 |46
ottt | 10 | 25 | 30 | 35 | s | 10| 8

Demonstrate the following data by point graph :

Weight(inkg) | 40 | 41 | 42 | 43 | 44 | 45 | 46

No.ofstudents | 10 | 25 | 30 | 35 | 15 | 10 | 8

http://www.cgboardonline.com
Hgar

OR
TR0 U1 |Reeigs W =9 S faf@u

Write four differences between classification and tabulation.

Y W & H1¢ =R Ievd faf@e
Write any four objectives of plant breeding,

-

Jraar
OR

st fafv=ra & @1 9R Frv farae )

Write any four causes of hereditary variation.

-G fiFa & AR AR s fafae)

Write down four internal factors of photosynthesis process.

aar
OR

T o sraTE v Fn € 2 9 B HeERT

What are acrobic and anacrobic respiration? Explain with equation.

(4]

[1x4=4]

[1x4=4)

[1x4=4]

_?-_ &2‘:-4]

WO dUI[UOpPILe0q3o mmm//:dny



WOod AUI[UOPIROGSI Mmmm//:diy

(7]}
W 14 aEwig ww € @S TH W
STl ¥) (awn @) sifvemm we-dim 750 I ¥)

1) Quest i
(1) Question Nos. 13 and 14 are short answer type questions.

line st i - imit of
ch question carries 5 marks, (Maximum word limit of
answer is /50 words)

frifer P (8) weq W 13
S afg
Instruction

W13 W & R #) wftr e frw feaf ) [2+3=5]
Define reflection of light and write laws of reflection.
erar
OR
BRI E IR SRR =
Explain solar eclipse with labelled diagram,
W-14  Fm wnel A agee s (5]

urais 0-8 | 816 | 16-24 | 24-32 | 32-40 | 40-48
Trenfifay & dwr 1 18 20 26 15 10

Calculate the mode with the following data :

WO dUI[UOPIL0q3> mmm//:dny

Marks obtained 0-8 | 8-16 | 16-24 | 24-32 | 32-40 | 40-48
No. of students 1) 18 20 26 15 10
3rerar
OR
g % a9 fafay (S8 aiw) | [1x5=5]

Write down the demerits of mode (any five).

e : (3) W FHF 15 ¥ 17 7% qUSTid ¥H ¥ ThF T W
' 6 3% arEfed €1 (S| & Afuwan w=-dim 250 1= ¥)

Instruction : (E) Question Nos. 15 to 17 are long answer type questions.
Each question carries 6 marks. (Maximum word limit of
answer is 250 words)

w15 fag wifag f v § wey s da g [3+3=6)

Prove that light has rectilincar propagation.

. e e N i it i anin SIS S R A R
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wyt-16

uet-17

I8
Syerey
R
fewr wira e wen & 2 yod fagta & wlfafy ferttmn )

What is D.C. motor” Write down the

[242+2=6)
principle and working method

of D.Comaotor,

Fibvaa gro vEhed w0 #) fafu m wfam avky @t [2+212-6]

Explain with diagram the preparation of alcohol by fermentation
method.

arerar
OR
e An % Iyam Fafvya w9 gt fafan [1x6-6]

Write any six precautions of Gobar Gas uses.

12 Frdam @ wftvr fafag a fafu= fafirgt 1 avls *ifag) C O [244-6)

Write down the definition of insect control and explain different

methods of insect control,

erar
OR

Yem %2 & e w @ a3 e avk SR [3+3=6]

Describe life eycle of silk-worm with diagram.

LR I A
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